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Electromagnetic Waves

31.  Theelectric field in an electromagnetic wave is given as E = 20sin oo(t - i) jNC™' where o and ¢ are angular
C

frequency and velocity of electromagnetic wave respectively. The energy contained in a volume of 5 x 10*m’?
will be (Giveng,=8-85 x 102C*/Nm?)

Y faed graasra ot o faega & Ezzosino{t—iijC“ 3 f&ar A1 2 (S8l o Tl ¢ AT Py Srgiy ve e
C

Id FHEOR T B AT E | 5 x 10*m’ & e # ofdfde (Contained) St 81
(fear g g, = 8-85 x 102C*/Nm? )
(1)28-5x 10147 (2)88-5x10"4]J (3)8:85x10"]J 4177 <1057
Question ID : 3666944211
Option 1 ID : 36669413097
Option 2 ID : 36669413096
Option 3 ID : 36669413095
Option 4 ID : 36669413098
Ans.  Official Answer NTA (3)

Sol. EzZOsinm(t—%}jN/C
) 1 )
Average energy density of an em wave = 5 €, E;

Energy stored = (% , B2 j(volume)

=%><8.85><10“2 x(20)° x(5x107)J

=8.85x107"J
KTG & Thermodynamics
32.  Three vessels of equal volume contain gases at the same temperature and pressure. The first vessel contains

neon (monoatomic), the second contains chlorine (diatomic) and third contains uranium hexafloride (polyatomic).
Arrange these on the basis of their root mean square speed (v, ) and choose the correct answer from the

options given below :
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FAT AT dTel T4 qcial 3 G 991 Td &9 O 1199 &1 88 & | Ugel 9o § (18119 (Vhel URATd), S8R aa
# AR (ETIRATOIER), T4 R 9ol § R g1 GeiR1gs (SgURAVII) 0 © | 72, geiabl ot e el ared (v, )
@ IMYR IR FGRT PN Td i1l f3Q 7Y fJpedl § § |al IR
(1)v,_ (mono)=v_ (dia)=v__(poly) @)v,_  (dia)<v_ (poly)<v_ (mono)

(3)v,, (mono)>v_ (dia)>v__(poly) 4)v,  (mono)<v_ (dia)<v__(poly)
Question ID : 3666944217
Option 1 ID : 36669413121
Option 2 ID : 36669413122
Option 3 ID : 36669413119
Option 4 ID : 36669413120
Ans.  Official Answer NTA (3)

/3RT
Sol. Vims = V

1

\' oL —

UM
MUF6 > MClz >My,
So correct relation is
Vo (mono)>v_ (dia)>v_ (poly)
KTG & Thermodynamics
33. 1 kg of water at 100°C is converted into steam at 100°C by boiling at atmospheric pressure. The volume of
water changes from 1-00 x 10°m?* as a liquid to 1:671 m?® as steam. The change in internal energy of the
system during the process will be
(Given latent heat of vaporisaiton =2257 kJ/kg, Atmospheric pressure = 1 x10° Pa)
1 kg 9t &1 100°C WR argAveety gdrd 1R Iarerax 100°C wR A9 # uRadiia fhar Srar 8 | 9 &1 A3 dvdl &

FUH 1-:00x 10°mM* 4 919 & w9 § 1-671 m® d& g S & | UhIIT & GRIE e & dRe Soft # gRad+

BRTA
(ATIIBROT BT [ HAT = 2257 kJ/kg T1 argAveed @@ =1 x10° Pa g 1)
(1) +2090 kJ (2)— 2426 kJ (3) +2476 kJ (4)-2090 kJ

Question ID : 3666944218
Option 1 ID : 36669413124
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Option 2 ID : 36669413125

Option 3 ID : 36669413126

Option 41D : 36669413123
Ans.  Official Answer NTA (1)

Sol. ~ W=PAV=1x10°[1.671-0.001]

=1x10’ x1.670
=167 kJ
AQ=mL
=1x2257 kJ
=2257klJ
SAU=AQ-W
=2090kJ

Geometrical Optics

34.  The critical angle for a denser-rarer interface is 45°. The speed of light in rarer medium is 3 x 108 m/s. The
speed of light in the denser medium is:
ey Fe—faRat iRy (interface) & oy whifeads HIoT45° & | favet Az # yabrer &1 a1t 3 x 108 m/s 8 | Fa+
HETH W YHTL B AT o
(1) 2 x10® m/s (2)5 x 10" m/s (3)3.12x10'm/s  (4)2.12 x 10¥m/s

Question ID : 3666944209

Option 1 ID : 36669413090

Option 2 ID : 36669413089

Option 3 ID : 36669413088

Option 4 ID : 36669413087

Ans.  Official Answer NTA (4)

Sol.  sinC=1/p
sind5’ =1/p=>p=+2

_ light speed in vaccum _ 3x10°

= m/s =2.12x10® m/s
u V2

Nuclear Physics
35.  Tworadioactive elements A and B initially have same number of atoms. The half life of A is same as the average

life of B. If A, and A, are decay constants of A and B respectively, then choose the correct relation from the

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 4




=== M ATRIX Question Paper With Text Solution (Physics)
‘} JEE Main April 2023 | 11 April Shift-1

given options.

<1 MeTrafeha el A vd B @ uRHATI[T b1 et U H 9 € | A gy, B 3ied 3y & wHie 2 1 i A, wd
Ay ATd B @ spAe & fFgdie €, dr < ey 7y fased! § & wel wwy g

(M, =A, @) h, =24, (3) A, =2 n2 (4 A, In2=7%,

Question ID : 3666944207

Option 1 ID : 36669413081
Option 2 ID : 36669413082
Option 3 ID : 36669413080
Option 4 ID : 36669413079

Ans.  Official Answer NTA (3)
Sol.  T,,(A)=T,(B)
In?2 _ L
N
Ay =hgl2
Magnetism & Matter
36.  The free space inside a current carrying toroid is filled with a material of susceptibility 2 x 102, The percentage

increase in the value of magnetic field inside the toroid will be

T URMETE] SRIgS & 7 & b @I &l 2 x 102 Fwfefferd) arel uarl | +R & 91 & | SRiEs & 3R, g
&3 & 919 H gs ufaed gfg gl :

(1)2% (2)0-1% (3)0-2% 4 1%

Question ID : 3666944212

Option 1 ID : 36669413099
Option 2 ID : 36669413102
Option 3 ID : 36669413100
Option 4 ID : 36669413101

Ans.

Sol.

Official Answer NTA (1)

AsX_ =2x107
wo=1+X, =1.02
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=B=p, B, =1.02 B,

So percentage increase in magnetic field

= B;BO x10% = 2%

0

Units & Dimensions
37. Given below are two statements :
Statements I : Astronomical unit (Au), Parsec (Pc) and Light year (ly) are units for measuring astronomical
distances.
Statements Il : Au <Parsec (Pc) <ly
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Statements [ is correct but Statements II is incorrect.
(2) Both Statements I and Statements II are incorrect.
(3) Statements I is incorrect but Statements I1 is correct.
(4) Both Statements I and Statements II are correct.
RICECUC R R C
Ho | : @ 5678 (Au), TRE (Pc) Ud gabrer a8 (ly) @il gRat aros & forw garsat 2
FHA 11 : Au <9REF (Pe) <ly
ST HUAT & 3l 4, -1 U 77 avedt § 4 |aifds Iugd I g |
(1) ®= [W8! 2 fog w11 Ted = |
(2) 1 vd Hue 11 <9 Terd € |
B) Py 171 &, foog w1 981 7 |
(4) a1 vd w1 <M1 92 2
Question ID : 3666944224
Option 11D : 36669413149
Option 21D : 36669413148
Option 31D : 36669413150
Option 41D : 36669413147
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Ans.  Official Answer NTA (1)

Sol. 1 Parsec. =2.06 x 10° AU =3.26 light year

AU <Light Year <Parsec
COM, Momentum & Collision

38.  Anaverage force of 125 N is applied on a machine gun firing bullets each of mass 10 g at the speed of 250 m/s

to keep it in position. The number of bullets fired per second by the machine gun is:
10 g seger arell MRl &1 250 m/s @1 T | AR 88 U w4 T (dp) Bl wgfera Reafd 7 v & forg, 56
W 125 N &7 3iad 9o R far Srar 8 | /i 79 g1 &rfl 13 ufd Aave miferal @) e €

(1) 50 (2)25

Question ID : 3666944223
Option 1 ID : 36669413145
Option 2 ID : 36669413146
Option 3 ID : 36669413144
Option 4 ID : 36669413143
Ans.  Official Answer NTA (1)

AP N 10
p=20 N 10 950
Sol. ALt 1000

125=§><§:>E=50
2t t

Communication Systems

(3) 100 4)5

39.  Atransmitting antenna is kept on the surface of the earth. The minimum height of receiving antenna required to

receive the signal in line of sight at 4 km distance from it is x x 10> m. The value of x is
(Let, radius of earth R = 6400 km)
T UNed ST Pl gedl & Il IR 3T T 8 | 589 4 km @) 990 R gfte Y& Ria urd v derg amet $fer efer

(SHRA) B AMMIIFH JATH SHae x X 102 m T | x BT 949 & :

(A, gedt @1 £ R = 6400 km)

(1) 12.5 (2)1.25 (3) 125 (4) 1250
Question ID : 3666944205
Option 1 ID : 36669413072
Option 21D : 36669413071
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Option 31D : 36669413073

Option 4 ID : 36669413074
Ans.  Official Answer NTA (3)

2
Sol. d,=.2hR .'.hr=2d—1'{

2
2(6400 km) | 800

Kinematics (Motion in a Straight Line)

40.  From the v-t graph shown, the ratio of distance to displacement in 25s of motion is :

SR gY v-t ARG H, 25 THvs Bl A & SR T Bl TS G T AU BT AU 2 -

T 20
v 10
m/s 20 25

0l 5 10 15
t(s) —>»

13 @ Ok @1
Question ID : 3666944221
Option 1 ID : 36669413138
Option 2 ID : 36669413136
Option 3 ID : 36669413137
Option 4 ID : 36669413135
Ans.  Official Answer NTA (3)
Sol.  Areaunder the graph fromt=0tot=20sec =200 m
Area under the graph fromt=20tot=25sec=50m
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So distance covered = (200 + 50)m =250 m

Displacement = (200 — 50)m =150 m

250_5
150 3

Current Electricity

41.  Twoidentical heater filaments are connected first in parallel and then in series. At the same applied voltage, the

ratio of heat produced in same time for parallel to series will be:

gleN B T gA™U fhelifict Bl Ugel FaMT=R H9 § b 2ol e & SireT Sirar © | 991 JmRifud fava & for, &= wwg

H FAFNR HF § I ST BT 400 HH § I ST I T BN
(H1:4 2)4:1 3)2:1 4)1:2
Question ID : 3666944214
Option 1 ID : 36669413107
Option 2 ID : 36669413108
Option 31D : 36669413110
Option 4 ID : 36669413109
Ans.  Official Answer NTA (2)
Sol.  Parallel combination

2 2
g o= Y |22Vt

RIS

2

Series combination

Capacitance

42.  Aparallel plate capacitor of capacitance 2 F is charged to a potential V, The energy stored in the capacitor is
E,. The capacitor is now connected to another uncharged identical capacitor in parallel combination. The
energy stored in the combination is E,. The ratio E /E is :
2 F &niiRar drel Ueb HHAIRIR Uigepn e &1 V v oo i i S € | e # i So o 99 E 8 1 3@
39 AR BT {1 S FHEY ARG HITRA & A1 FHFIR A | Siiel ST & | | # |fed Soft & A1

E g13guaE/E &:
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(H1:4 (2)2:3 3)2:1 41:2
Question ID : 3666944215
Option 11D : 36669413114
Option 21D : 36669413113
Option 3 ID : 36669413112
Option 41D : 36669413111
Ans.  Official Answer NTA (4)

Sol.  Initially

Q=Cv=0Q)V

E, =1/2CV?=1/2Q)V? =V?

Finally

Charge on each capacitor,Q, = Q_ % =V

2 2
E2=2 l& :V_ _'_&:l
2c) 2 E 2

Alternating Current

Impedance A

Curve A
Curve B
43.
—
f(Hz)

As per the given graph, choose the correct representation for curve A and curve B.
{ Where X . =reactance of pure capacitive circuit connected with A.C. source

X =reactance of pure inductive circuit connected with A.C. source

R =impedance of pure resistive circuit connected with A.C. source.

7 =Impedance of the LCR series circuit}
QU U ifig (ITh) & oI 9R, 9% A Ud a% B o forg w81 Aoy g |
{S1et X . = A.C(vearael) i & s g oRAg gRkuer b1 gierend
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X, =A.C. A ¥ IS gV Y& W1 uRuer &7 gierd
R=A.C. &d ¥ 9 8¢ Y& R uRuer o1 gferen
Z = srftag LCR aRuer ot sfdiarer)
()A=X,B=R  (QA=X.B=Z  (3)A=X.B=R (#HA=X_.B=X,
Question ID : 3666944210
Option 11D : 36669413094
Option 2 ID : 36669413092
Option 31D : 36669413093
Option4 1D : 36669413091
Ans.  Official Answer NTA (4)

1
fzZ=X.=—
Sol. cT %0

1 1
TonfC (2rf)C
Zxl/C
Curve Arepresent this relationship.
If Z=X, =oL=2nfL =2nL)f

Curve B represent this relationship.

Gravitation
44.  Theradii of two planets'A' and 'B'are 'R' and '4R' and their densities are p and p/3 respectively. The ratio of

acceleration due to gravity at their surfaces (g, : g,) will be :

31 U8l 'A'SIR 'B' @1 351§ 'R' wd '4R' €, T 399 B9 AL p UE p/3 B | I ORIl R Tcd g =N bl ST
(8,: )
(1)3: 4 2)4:3 (3)3:16 @)1:16

Question ID : 3666944220

Option 11D : 36669413133

Option 21D : 36669413132

Option 31D : 36669413131

Option4 1D : 36669413134

Ans.  Official Answer NTA (1)
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4
Sol. g =§nGpR

g P, R, 4 4

Dual Nature of Radiation & Matter

45.  Ametallic surface is illuminated with radiation of wavelength 1, the stopping potential is V . If the same surface

V
is illuminated with radiation of wavelength 22, the stopping potential becomes —= . The threshold wavelength

for this metallic surface will be

4

fepefy enfoages aer 1 A eRweed arel faferor & g fopan Sirenm €, foraer e fava V1 afe g0 def bl 2 aiee

ﬁmﬁﬁﬁﬂwﬁﬁﬁmwaﬁﬁ%ﬁﬁm%ﬁrw%lsﬂaﬁzﬁaﬂzﬁmé‘s@ﬁaﬁﬁw‘ﬁ:

(1) 57 @ (3) 3% (4) 41
Question ID : 3666944208
Option 11D : 36669413084
Option 2 1D : 36669413086
Option 31D : 36669413085
Option 41D : 36669413083
Ans.  Official Answer NTA (3)
Sol.  From the equation of photo electric effect
eV, _he_he
4 20 A,
1{@ _&J _he _he
AN Ay ) 20 A,
ror_ron
Ao 4h, 20 4A
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31
A, 4

= A, =3A

Circular Motion

46.

A coin placed on arotating table just slips when it is placed at a distance of 1cm from the center. If the angular

velocity of the table is halved, it will just slip when placed at a distance of from the centre :

Pl Tl 88 A9 UR U (& R €, AT Ry 3l S8 9 1 cm &1 g3 W T 1T &, F I8 el e © |

I A T PO A7 e = Fom e 2, A Ryaat o 0 R e uR™T 9 <, 98 2
(1)2cm (2)8cm (3)4cm 4 1lcm

Question ID : 3666944222

Option 1 ID : 36669413140
Option 21D : 36669413142
Option 31D : 36669413141
Option 4 ID : 36669413139

Ans.  Official Answer NTA (3)
Sol. fsmax=umg=moo2R:R=u—§
®
So if ® becomes 9,R will become 4R
So distance from the center will be 4 cm
Semiconductors
47.  Thelogic performed by the circuit shown in figure is equivalent to :

o o yefRia uRuer g1 qof feam wam @a (ffSTe) 1 & g & -

a

b

(1) AND (2) NOR (3) NAND (4) OR

Question ID : 3666944206
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Option 11D : 36669413077

Option 21D : 36669413078

Option 31D : 36669413076

Option 4 1D : 36669413075

Ans.  Official Answer NTA (1)

Sol.  AND

Thermal Expansion

48. On a temperature scale X', the boiling point of water is 65° X and the freezing point is—15°X. Assume that the
X scale is linear. The equivalent temperature corresponding to —95° X on the Farenheit scale would be :
el o & e X W) Ul @ qaerid 65° X wd fRHie —15°X & | 7 X U W@ € | BRAsse A W)
—95° X & |, oI ATIHT B
(1)-112°F (2)—48°F (3)—148°F (4)—63°F

Question ID : 3666944219

Option 1 ID : 36669413129

Option 2 ID : 36669413127

Option 3 ID : 36669413130

Option 4 ID : 36669413128

Ans.  Official Answer NTA (1)

C—0 _X-(-15) _ F-32

100-0  65-(~15) 212-32

fX=65 = F=?

65+15 F-32

80 180
F=-148F

Sol.

Simple Harmonic Motion

49.  The variation of kinetic energy (KE) of a particle executing simple harmonic motion with the displacement (x)
starting from mean position to extreme position (A) is given by
TR Irad I Bt gY T o1 &, S9! Aty RIfay ¥ <ifcw (7)) Rerfdr (A) T, S8 f[AwIas (x) & arer S|l
Tfast Sett (KE) # uRadH, fiad fear mar g
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|
|
1) ) :

X — A (x) >

KET

KET

3)

[
[

) !

0 Ay 0 A X —>

Question ID : 3666944216

Option 11D : 36669413118

Option 2 ID : 36669413115

Option 31D : 36669413117

Option 41D : 36669413116

Ans.  Official Answer NTA (1)

Sol.  Foraparticle executing SHM
KE = %moo2 (A2 - xz)
When x =0, KE is maximum & whenx=A, KE is
zero and KE V/S x graph is parabola.

Magnetic Field & Force

50.  The current sensitivity of moving coil galvanometer is increased by 25%. This increase is achieved only by
changing in the number of turns of coils and area of cross section of the wire while keeping the resistance of
galvanometer coil constant. The percentage change in the voltage sensitivity will be:
T T el TR BT SR GATET 25% qGT <1 Ol & | I8 g, {Sell D BRI Bl WA, ¥ AR B IR HIC
SAhE H URTTH B W UG BRIl 8, STdid TR B1 HEell Bl TR I @7 ST & | diecst GaTear # a1 uferd
IR B
(1) +25% (2)-25% (3)—50% (4) Zero

Question ID : 3666944213
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Option 11D : 36669413103

Option 2 ID : 36669413104

Option 3 ID : 36669413106

Option 41D : 36669413105
Ans.  Official Answer NTA (1)

Sol. I :T&Vs =—

I . .
=> Vs = ES , If G (galvanometer resistance) is constant, then V o I

so percentage change in V  is also 25%.
FElasticity
51. The length of'a wire becomes /, and /, when 100 N and 120 N tensions are applied respectively. If 10/, =117,

1
the natural length of wire be ;11 . Here the value of x is

Sfg TR WX 100 N vd 120 N =i RIfAue 1 Skl € 99 IR &1 erwrgar [, gd /, 81 ol €, afe 104, =117, 8,

Wﬂ%aﬂﬂﬁiﬁmill'&ﬁ"ﬁlxﬁﬂﬂﬁ =

Question ID : 3666944231
Ans.  Official Answer NTA (2)
Sol.  100=K(¢,-1,)
120 =K (£, —£,)
6_Li~l
5 (-1,
= 60,-6(,=5(,-5(,

=60,-5(,=(, = 6€1—%€1:€0 = %ﬂlzﬂo

Electrostatics
52. Asshowninthe figure, a configuration of two equal point charges (q, =+ 2 C) is placed on an inclined plane.
Mass of each point charge is 20 g. Assume that there is no friction between charge and plane. For the system

of two point charges to be in equilibrium (at rest) the height h =x x 10 m. The value of x is
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=9x10°Nm°C?,g= 10ms‘2)

1
(Take Ame

forst 7 g2y argaR, 20 g e arel &1 A fawg amder (q, = + 2 C) Teb AT el UR X € | JIT {72l gd et
@ 91 IS G EI 2 | IFT A SRl @ e @t maRen ReR @ oy, h=x x 103 m g | x &7 74149 gl

_ 9 2~-2 -2
@z y =9%x10°Nm"C~,g=10ms )

1
€

Question ID : 3666944229
Ans.  Official Answer NTA (300)

Sol.

For Equilibrium

Fe=mgsin 30°

K.g%r>=mg sin 30°

—-6\2
9x10" 20 ) _ 20510y x10x
(2h) 2

h=0.3m=300 % 10" m
Atomic Structure
53. A monochromatic lightis incident on a hydrogen sample in ground state. Hydrogen atoms absorb a fraction of

light and subsequently emit radiation of six different wavelengths. The frequency of incident light isx x 10" Hz.

The value of x is

(Givenh=4.25 x 105 eVs)
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FRAT © Yd IO B: N3Nl TRTaed! T fAfHor I T & | mufid uebrer &1 gt x < 10° Hz 2 1 x

FTAF B

(feam g, h=4.25 x 10¥ eVs)
Question ID : 3666944225
Ans.  Official Answer NTA (3)
Sol. 6='C, —=n,=4

hv=E,-E,
1 1 1
Sov=136| > —— |[x——
(12 4 j 425x107"°
=3x10" Hz
Geometrical Optics
54.  Theradius of curvature of each surface of a convex lens having refractive index 1.8 is 20 cm. The lens is now

immersed in aliquid of refractive index 1.5. The ratio of power of lens in air to its power in the liquid will be x : 1.

The value ofx is
1.8 JUaciHies dTel STl o & YD dsh @ ag @l a1 20 cm & | 31 39 o9 &l 1.5 Jfuac-ids dTel ga # gam
ST 2 | BT H oI ®I ARk BT 5d § g6! oAfh F U x : 1 8 | x HT A4 El

Question ID : 3666944226
Ans.  Official Answer NTA (4)

1 1
P =(1.8—1)] — + — | by lens maker's formula
Sol. ( )(20 20) y

T
1.5 20 20
Dividing P = 08 =4
P 1.2-1
Electromagnetic Induction
55.  The magnetic field B crossing normally a square metallic plate of area 4 m? is changing with time as shown in
figure. The magnitude of induced emf'in the plate duringt =2s to t =4s, is mV.
4 m? g% dTell UTfidd ©ic | oaad ol alel g &F B # 99g & 411 uRads, o 4 yefRfa € awat=

2s¥t=4sd IRM, wic 4 URT fIgd aE® 9 (emf) &1 714 mV g |
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A B(mT)
10fp————————————=
] E— !
oF--—--=> =
4f———= | Lo
L d
I . I
T2 3 4 5 >
Question ID : 3666944227
Ans.  Official Answer NTA (8)
Sol.  e=A-AB/At
=g B0 o
(4-2)
=8x107 volt =8 mV
Work, Power & Energy
56.  Aforce F=(2+3x) i acts on a particle in the x direction where F is in newton and x is in meter. The work done
by this force during a displacement from x =0to x =4 m, is J.
forefl o1 IR x e # e F=(2+3x)i R frar Smar 2, et F e # € oiR x #ex # §) e x =09
X =4 e & IR g g7 b 11 B J2

Question ID : 3666944233
Ans.  Official Answer NTA (32)

= 3x?
Sol' W= deX=2X+T
0

=2(4)+%(l6)=8+24=32J

Rotation

57.  Asolid sphere of mass 500 g and radius 5 cm is rotated about one of its diameter with angular speed of 10 rad
s!. If the moment of inertia of the sphere about its tangent is x x 1072 times its angular momentum about the
diameter. Then the value of x will be
500 g &= v 5 cm 31 a0l TS S TMiel Bl $9 T @™ & uRd: 10 rad s7' &1 S1oli =1 § gamr S
2| IS el BT 3o el & |iie STecargyl, AT P AUE 9D PIOg HlT BT x X102 I €| A X BT A
By

Question ID : 3666944232
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Ans.  Official Answer NTA (35)

<] S L=Angular momentum

Sol.

m =500g =0.5kg
R =5cm
®=10rad/ sec

moment of inertia about tangent = I

>

I, =xx107L

%mR2 =xx107 %mRzm

—=xx10"= !
20 2x10
Waves on String
58.  Theequation of wave is given by

Y =107 sin 27 (160t — 0-5x + 7/4)
where x and Y are in m and tin s. The speed of thewaveis ~ kmh™.
5t T &1 Flaeer e ®
Y =107 sin 27 (160t — 0-5x + 7/4)
TEXxT@YHR A @tAPrs He | RT P I kmh'g]
Question ID : 3666944230
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Ans.  Official Answer NTA (1152)

o 160
V=22 s
Sol. K 05

=1152 km

Kinematics Motion in a Plane

59.  Aprojectile fired at 30° to the ground is observed to be at same height at time 3s and 5s after projection, during
its flight. The speed of projection of the projectileis ~ ms™.
(Giveng=10ms?)
gRTTS | 30° @ HIoT IR VeI faar T Uee ue v & U, SEAF B QIR 38 Td 5S TR A Sdls UR Ul ST
VI B eI A ms' g
(far 2 g=10ms?)

Question ID : 3666944234

Ans.  Official Answer NTA (80)

Sol g 2usin30°
' g
u=80m/s
Current Electricity

60.  Inthecircuit diagram shown in figure given below, the current flowing through resistance 3 Q is gA- The value

of x is

fry R T o et aRue ¥ 3QWWJ¥W@HW§A%|XWW 2

WW—] 3Q
4.5Q
6Q
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Question ID : 3666944228
Ans.  Official Answer NTA (1)

.4
Sol. l—g—
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